\
A-PDF Image TAYI}’émrgomrchtbem\%ﬁ-dI%F.com%r&ﬁMéNatermark ?Q%Q

L

13.5 #0. WSy 2, ‘x:{l) A= lsz‘e-{
0\\ )j\\)\ dw_ = %U% ‘O“ dw oy g-\'-i?l’”
50 oM F S W

| )

A = Y2 Dbk ¥pod oy (-\’i)

\05 w = %?‘Qt-f:{: oY Lt %3 %ﬁ; - (3{3“@:*'— Jce'{>

AR
2. |y L BIT o= LAIR L
W= Lize-lot? Mo 4@i-iot”
dsod betwea \}\ -]
+ve] o Po.,h‘(/U/) = (\f'(l‘xg“ "5(\‘“232
) = \{Z&Sﬁf— m@*:)lJf [u\g\rpe 1ot % = (W& (ot )}
L = .1_4\8-1; \I‘F @) + (2 -W— —* ugtJ? -20E 23
T LR m Y 250k
ﬁ:“f = }‘(C/OS(:(,‘%) 7(’-=—52 5 3 ——-S'—l'é
W, Ow _ _ Bw A% L9 s ke
Toqlz SRR ot T =k stee s g
N LN
< o Bwoc Ow B Bw 0% | xwsialyr). 44 Lnysp
% Dt B oY reaREeY ot E T 3%69/
32 %=+ yast Y=
To @:; : an wiapect o x e piy
fwal = &\1\{*‘3’\’*"*‘0‘% bo\\-\,« 9 5 8 0o Lerdact.
; al»r:kmkz;
{'74-3 “’*%*'(] + 8_¢:,,O
\ 3‘/
h O " o oS Do e
‘ (5( Jﬂj} Sy - R Cé‘}f kg '(w,&)
\ - Q2 _ _ (xt2
O\ dilap for  Bho = WaE
|



http://www.a-pdf.com/?itp-demo

f M ATH 280 quork_ (3 £ Lokiods poag- 2

QLL \3 b #16 . GC\LN\B = ﬂﬁ = '\lv%- 2 u:Lw; S -“"*> 4.,}2' )\E>
1 = __l, Y \J3 5 _

o= €, =y B Dy O -3;-@ ~ 05 ye

wg Alxa) = @3 (x4y) QP (ou) townds D)
_?)(— ""x’\lf\(.\(“"bj\ @ FPLO[U\ = “‘\)‘ —Sa = O A1)

I chr&,zh‘on
; S, WA \(-Hjb ")(o!lh =) RS 2{ W 1.~ 40

'%Qmum E\( ondd- ol oHa neso m&thONQ AJI/\VDAV‘\V“L_/-
j\*\ Wro ot Lﬁ ; :

#%’-f ﬂ(\h‘{)\): \3[\"1 2 [0)5-) %x:, ~1><S<L¥ \)-_ O
OIT\

W% 07;); A0, )\> 5‘6: @:y{lg; 3

N\w Vol of  dlivehiawl  doavohwt \\VJCD,Q\\ Lo|>”,_

;_,8 J;Uiuj)~ q - x? "tj 7 jﬁx__ oL % 43,’ ¥ Et} :
V$(4z§- A=rtyseas = 4=7, 4>
o) M-r ZwsI];m Sl ,fz‘_> = Dyt = ,g,%%uq.{%\_

Du— LosT, sintms s 43\__>>)b flrn)s =2 v=wdr zovan

2

S R R e . TR

#50. | Ul..L Vi) = u. VL0)=0 = bh u= Lo
| Then ath =1 omoh. “20-Lb=0"

So\\wg ST ETN quxz{wf o{z_g?) b=
l“ e olusection o> Tl —sammmal aret-tiona . dasvatoe
- i Vs " S wsR
WJV s e ,\:tku(_-l‘-'ov\
&0(/) ot Q{,\%L, waUA,
-Mtv AR &) Jewd curec ot e=2 ‘
LE e P \gj"—;g S Xy = | D
-+ ¥
_.\Ow G‘.‘,@(a&ml‘ W URONE T YRETPRRIE Y © P vt & X‘*‘(%—-Z} =3

e (:‘Hmvx of QL(\YE = 4"-‘@
;i ((kw\éh,%> omd plra s ¥=v3, ye= 2\




WMATH 250 fowewsort \3 Soluckion s O

36 BBl torttaned |
c) DM%M dave e Vs wo

k 9
~ *\N&ﬂfu:t\""‘ \h\NU\_ a \S £ o V% (ﬁ,?_)
A ollr:'bbl"\‘/\w So, —J . 4_(‘5 0> )
e S g
I s Ao Zol\gﬁ. <—£?rr°>:"’0"
i /-'_{-?-‘— = > o=
m:\\.L T+ 0=1C Sbe@_.
_.-\ s

SR B £90,-1>

ScBlF #22. 2= ¥-2xytyt @ gl
\:(‘!\uﬁl?):. ')(zrv;\lﬁhj?-g—:_ -
:x: 27(——'3)3} r‘ﬁ: -lY-ﬂ—'?/u(} ) .F:g = —|

QQUJU) ) N : #\\\: STy o
tangont plae =2 (x-D42(y-2) ~(3-U =0
2 -—'lx-rué~%’\::0‘

#34  xyzr=10 — —

FL‘{\L‘-jl%ﬁ p® }U.j’%-—lo:__@ b) '\_K:d:{- F\Jé:-)('b 1‘.:2:-7(‘3
@LLaEY 440 ) 5, 2% wemad

A 1 oplapds O s ; o T 3 '

ot prds 0 (%= + B (=D 2(B-5) =0

IR R R

wavensd| b “)—*;i«-t e e T

\O Bt 1 T
Bl sdund s Blngla i -2 =S
SERMRIE 4 L SRS SR W CORTWCL BN, L TE S S e PR

P (i, W) T
(1 uv) ‘ £y x £ b
w TSRS T EAEE, O NSRS S T, =[2Si=1d, =2>
‘ Vi) -t
- : SRV, o n o f e
5\\ AQﬁtUOL-\*‘O"\ - % L s IR Wmm\‘\“ Zrg ol

Hhe Yolagnt Bne -1 -'2:;!'"‘

Aol £ e -\ "'2,i - @%\Q-%_ b3t - (2
AHee <o 2 s dEE— = 0-FE]

G tnrve of




